YASHSHREE COMPETITION ZONE

Q1. Mammal capable in flying is-

IS § e WIS &-

(a) Jaguar /ﬁge«nv

(b) Ostrich / IGRF

() Pellican / Ofcres

(d) Bat /[AHTIGS

Ans.(d)

Sol. Bats are the mammals of the order Chiroptera whose
forelimbs form webbed wings, making them the only mammals
naturally capable of true and sustained flight.

Q2. Dolphins are classified in-

: Fffepa faar oiar 2-

(a) Fish /ASet
(b) Amphibians / SHIIR

() Reptile / @M g

(d) Mammals / TenRay

Ans.(d)

Sol. Dolphins are highly intelligent marine mammals and are part
of the family of toothed whales. They are found worldwide, mostly
in shallow seas of the continental shelves and are carnivores,
mostly eating fish and squid. India has declared Ganga Dolphin as
the national aquatic animal of India.

Q3. Amphibia are-

(a) Very fastly moving boats / Sgd doil ¥ Tei aTait i

(b) Animals living in water only / ﬁauﬁﬁ&ﬁraﬁsﬂa

(c) Animals living on land only / Fad ’i&rtﬁﬁﬁa’lﬁﬁﬁﬂ

(d) Animals living equally in water and on land both/ T 3R
SHM R 9HM ¥Y ¥ 38 a1 Sifd

Ans.(d)

Sol. The word “amphibian” is derived from the ancient Greek term
amphibious, which means “both kinds of life”. The term was
initially used as a general adjective for animals that could live on
land or in water. They are ectotherms or cold-blooded animals,
means they are unable to regulate their own body temperature.
Q4. Nilgai belongs to the following family:

frafafaa hiteh # @ o fPad a=fRa g 2

(a) Cow /TTTT

(b) Goat /&

(c) Sheep /ﬂ—s_’

(d) Deer / fgxuT

Ans.(d)

Sol. Nilgai is the largest Asian antelope species. Antelope are
creatures, who has strong permanent horns. There are more than 90
species of antelope.

Q5. Octopus is :

(a) arthropod /Uh ImifaTs

(b) An echinoderm/ Tch EﬁFﬁSfI

(c) A hemichordate/ U i ISe

(d) A mollusc /I& HITH

Ans.(d)

Sol. An octopus is a cephalopod mollusc of the order Octopoda,
also knows as devil fish. It has two eyes and four pairs of arms and
like other cephalopods, it is bilaterally symmetric.

Q6. Which one of the following is not an insect?

Frafafea % &« Te s T8 72

(a) Bed bug / @cHA

(b) Spider / AHS!

(c) House fly/ 8139 U?ﬂ'ap

(d) Mosquito / A=

Ans.(b)

Sol. Spiders belong to a group of animals called “arachnids”.
Avrachnids are a creature with two body segments, eight legs, no
wings or antennae. All spiders are predators and many eat each

other. Rest three options are insects. They have six legs, while
spider has eight legs. Thus spider is not an insect.

Q7. Which one of the following animals stores water in the
intestine?

o & @ 19 w1 IR S B uTet ST Fvar 32

(a) Moloch / FidIr

(b) Camel / e

(c) Zebra RTSRT

(d) Uromastix [@F@W

Ans.(b)

Sol. Camels have some special abilities which enable it to walk for
a long distance over sandy desert hills when there is neither water
nor vegetation. That is why it is called “Ship of Desert”. They have
broad, flat, leathery pads with two toes on each foot. Their
breathing rate is very slow. A camel can drink more than 100 litre
of water at once and they store it in their intestine for future needs.
Q8. Plants growing on rocks are called:

TS W I ATt N B 1 BT oI &

(a) Epiphytes / THtTSE

(b) Halophytes /

(c) Xerophytes / ©

(d) Lithophytes / fRripTS e

Ans.(d)

Sol. Lithophytes are plants that grow in or on rocks. Those that
grow on rocks are also known as epipetric or epilithic plants.
Lithophytes feed off nutrients from rain water and nearby decaying
plants, including their own dead tissue.

Q9. Which one of the following is an insectivorous plant?
fFrafafaa & § o9 te Fleveh teur @2

(a) Passion flower plant /B TR Wiie

(b) Pitcher plant / fU=R wiie

(c) Night queen | TR HIA

(d) Flame of the forest / T 31T § IR

Ans.(b)

Sol. A pitcher plant is a carnivorous plant or an insectivorous
plant. Carnivorous plants are plants that eat insects and other small
animals. Carnivorous plants grow in a soil that has less nitrogen.
All living things must have nitrogen. Carnivorous plants get
nitrogen from the insects they eat.

Q10. Turmeric is obtained from which part of the plant:
FrafafEa & @« g 0 &1 @ 9 it g2

(a) Root / SIS

(b) Stem / d-T

(c) Fruit /od

(d) Flower/ &I it

Ans.(b)

Sol. Turmeric is obtained from the stem of the plant. It is a
member of the curcuma botanical group, which is part of a ginger
family of herbs, the Zingiberaceae. Its botanical name is Curcuma
longa. All curcumas are perennial plants native to southern Asia.
They grow in warm humid climates and thrive only in
temperatures above 60°F (29.8°C). India, Srilanka, Fiji and
Queensland (Australia) all have the climate, which is conducive to
grow turmeric.

Q11. Potato isa :

3T T ¢-

(a) Root / S1g

(b) Fruit /Tdl

(c) Tuber / g

(d) Bulb ATI&

Ans.(c)

Sol. Potatoes grow underground, but the part we eat is not a root. It
is an underground stem called a tuber.

Q12. Clove is a-

=T TP &-
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(a) Buds of stem/a Bt W

(b) Bales of root/STS IS

(c) Flower buds/®d &1 &t

(d) Seed/aiiSt

Ans.(c)

Sol. Cloves are the aromatic closed, dried floral bud, which is used
in Ayurvedic medicine, making food and as an anodyne for dental
emergencies. The botanical name of clove tree is Syzygium
aromaticum (Eugenia caryophyllata) which belongs to Myrtaceae
family. Cloves are native to the Maluku Islands in Indonesia and
used as a spice in cuisines all over the world. The clove tree grows
to a height ranging from 10 — 20 metres, having large oval leaves.

Q13. Which of the following is not correctly matched-
frafeEa & @ @ wdie fram T8 -

(a) Ginger/ 3G - Rhizome /X 33- H

(b) Saffron/ B - Seed / TSI

(c) Opium/\?ﬂﬁ‘? - Opium capsule/ &WW

(d) Jute /SIC - Stem / dHT

Ans.(b)

Sol. Saffron is a spice derived from the flower of Crocus sativus,
commonly known as the “Saffron Crocus”. Saffron is obtained
from the style and stigmas of the flower of Crocus sativus.

Q14. Cork is obtained from which of the following plant?
Fid o FrafafEa & 3 fora 9 @ v fsar s gear @2
(a) Dalbergia/ STefa} o

(b) Cedrus/A=q

(c) Quercus/ W

(d) Argemone/\%{ﬁl:ﬁ:[

Ans.(c)

Sol. Cork is obtained from the bark of the oak tree, whose
botanical name is Quercus suber. It is native to the Mediterranean
region. Cork consists of irregularly shaped, thin-walled, wax-
walled cells.

Q15. The characteristic odour of garlic is due to-

g @ ARy iy BT HRUIE:

(a) A chloro compound / T FRI A1

(b) A sulphur compound / T Jeh il

(c) A fluorine compound / b TR Aif®

(d) Acetic acid / RiRepT 37t

Ans.(b)

Sol. Garlic is made up of sulphuric compounds (Ally methyl
sulphide) that render the pungent smell to it. Is also used for
treating diaphoretic, diuretic, expectorant, blood pressure and heart
disease.

Q1. Which type of colloidal system is expressed in the fog:
Pigy # f5d yoR 3t worTeft Sy B ST §:
(a) Liquid in a gas/ B39 & =t

(b) Gas in a liquid / T dRAH T

() Solid in a gas/ T TG H 31

(d) Liquid in Liquid AR B R

Ans.(a)

Sol. When the water vapour in the air condensed to form small
drops-of water, the fog is formed. When the temperature of air
during winter season reaches near to dew point, the water vapour
gets condensed around small particles of dust and remains
suspended in the air because of their low weight.

Q2. The technique of chromatography is used to-

IUANT Y ATt B-
(a) Identify colour substances / < Terif &t UgdH B
(b) Determine the structure of substances / et &t AT BT
AyRor s
(c) Dry distillation of colouring substances / i gerf &1 Rl
SIRdT

(d) Separate the substances from a mixture / forsror & ueref srem
PRAT

Ans.(d)

Sol. Chromatography is a separation technique used to separate the
different components in a liquid mixture. The separation is based
on differential partitioning between the mobile and stationary
phases. Chromatography may be preparative or analytical. The
purpose of preparative chromatography is to separate the
components of a mixture for more advanced use and thus a form of
purification.

Q3. The element found maximum in the earth’s crust is- t[ﬁi:ﬁ
B uRd ¥ AfUHaH I AT e T AT ¥

(a) Oxygen / SeRio

(b) Nitrogen / T3 o

(c) Manganese / &

(d) Silicon / fferemia

Ans.(a)

Sol. The element found the maximum in the soil layer is Oxygen
46.8% followed by Silicon 27.72%, Calcium 3.65% and Carbon
0.6%.

Q4. Which is the most abundant element after Oxygen on
earth’s surface?

et Ft g W ARG & 918 JaA UG 91 § 9 B
e

(a) Silicon /RifeiepI

(b) Carbon [ BTET

(c) Sodium / feTH

(d) Chilorine /&R

Ansi(a)

Sol. The most abundant element on earth’s surface after Oxygen is
Silicon. It was discovered by J.J Berzelius in 1824. The word
“Silicon” was taken from the Latin word silex. Silicon chips are
used as a semiconductor in computers.

Q5. Which of the following is the most abundant element in the
Universe?
[ AP A da TS A YR AAH

(a) Hydrogen / BT QIS

(b) Oxygen / 3T

(c) Nitrogen /?I%@Tﬂ

(d) Carbon | BTE

Ans.(a)

Sol. The most abundant element in the Universe is Hydrogen,
which makes up about % of all matter. Helium makes up most of
the remaining 1/4(25%). Thus, it is clear that hydrogen is the most
common and abundant element in the Universe. While the most
abundant element in the earth’s crust is Oxygen making up 46.6%
of earth mass.

Q6. The chemical composition of diamond is?

B B IR HE 82

(a) Carbon/ EACE

(b) Nitrogen/ s'cj ST

(c) Nickel / i

(d) Zinc Si®

Show Answer

Ans.(a)

Sol. Chemically diamond is the purest form of carbon (crystal
structure). Hence, it is a fundamental element. Sand is basically
made up of Silicon and Oxygen, Marble is made up of Calcium,
Carbon and Oxygen while sugar is mainly the mixture of Carbon,
Hydrogen and Oxygen.

Q7. Which is the most reactive metal in the following ?

uTg B A 22
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(a) Sodium / GfgTH
(b) Calcium / HieRraw
(c) Iron/3RRA
(d) Potassium/ TreRmy
Show Answer
Ans.(d)
Sol. Potassium is the most reactive metal.
Reactivity series (or Electrochemical Series) of metals —
Potassium K Most reactive
Sodium Na
Barium Ba
Calcium Ca
Magnesium Mg
Aluminium Al
From the above reactive series, we can see that Potassium is
the most reactive metal.

Q8. Which is the hardest in the following?

Frafafed & ged s s ar e

(a) Diamond/ BRI

(b) Glass / &g

(c) Quartz / EOchGI

(d) Platinum/ @ifeTH

Ans.(a)

Sol. Diamond is the hardest, least compressible and best thermal
conductor among all natural materials.

Q9. The chemical structure of the pearl is-
P TS TR -
(a) Calcium Carbonate / SfeXrad
(b) Calcium Carbonate & Magnesium Carbonate / Cae
fifREm

(c) Calcium Chloride / F TR FARTES
(d) Calcium Sulphate /S TeRIH Tethe
Ans.(a)
Sol. The chemical composition of pearl is 85% Calcium
Carbonate, 10-14% Conchiolin and 2-4% of water (CaCO; and
H,0). Conchiolin is protein.
Q10. Monazite is an ore of-

iTe [PT®T U 3P ¢
(a) Zirconiun/ ST TH
(b) Thorium/ 2iRTw
(c) Titanium/ € 3% Y
(d) Iron/3ITARA
Ans.(b)
Sol. Monazite is an important ore for Thorium, Lanthanum and
Cerium.The deposits in-India are particularly rich in Monazite.lIts
extensive deposits are found.in Southern India.
Q11. These days yellow.lamps are frequently used as street
light. Which one of the following is used in these lamps:
g faf fia dY SR Ts& & A & T A
ST 8. 39 90 3 frraferfad # @« Suui fear s @:
(a):Sodium / Tfsaw
(b) Neon'/ =
(c) Hydrogen / E'IE@GFI
(d) Nitrogen / FTg¢
Ans.(a)
Sol. There are 2 types of street light bulbs are used by
municipalities. They are sodium vapor and mercury vapor bulbs.
The mercury vapor bulbs are usually a white ambient light and
sodium an orange/yellow light. Compared to LPS (Low-pressure
sodium) lamps, high-pressure sodium lamps tend to have a longer
life, less lumen per watt efficiency and most importantly a higher
colour rendering index.

Q12. The most commonly used substance in fluorescent tubes
are-

TR egal § 9ra=ua: 9a9 e swaard frar s
aren ey &-

(a) Sodium Oxide and Argon | QST Hfags 3R 3

(b) Sodium Vapour and Neon | e ars 3R gt

(c) Mercury Vapour and Argon | TR} a1 3R 3T

(d) Mercuric Oxide and Neon /ﬁw Sffeargs SR far
Ans.(c

Sol. l(:laorescent lamp tube is filled with a gas containing low
pressure mercury vapour and Argon. Sometimes gases like Xenon,
Neon or Krypton can also be used. The pressure inside the lamp is
around 0.3% of atmospheric pressure.

Q13. Of how many carats is the pure gold?
Wmm%a—e-am ?

(a) 22

(b) 24

(c) 28

(d) 20

Ans.(b)

Sol. It is an extension of the older carat (Karat in North American
spelling) system of denoting the purity of gold by fractions of 24,
such as’18 carat’ for an alloy with 75% (18 parts per 24) pure gold
by mass. Because of the softness of pure (24 carat gold, it is
usually alloyed with base metals for use in jewellery, altering its
hardness.and ductility, melting point, colour and other properties.
Alloys with lower carat rating typically 22k, 18k, 14k or 10k
contain higher percentages of copper or other base metals or silver
or palladium in the alloy.

Q14. The chemical name of limestone is?

THT URR FT IAS 9 82

(a) Calcium Carbonate / HfeXIH PafC

(b) Magnesium Chloride / HHiRH wiRg S

(c) Sodium Chloride / f&TH FARTZS

(d) Sodium Sulphide / FIfSTH ThZS

Ans.(a)

Sol. Limestone is a sedimentary rock composed largely of the
minerals Calcite and Aragonite which are different crystals form of
Calcium Carbonate (CaCO3). Limestone binds with silica and
other impurities to remove them from the iron.

Q15. The chemical formula of the plaster of Pars is-

TR 3T WP BT IS T 1 8-

(a) CaSO,

(b) CaSO,¥%H,0

(c) CaS0O,.H,0

(d) CaS0,4.2H,0

Ans.(b)

Sol. A group of gypsum cement, essentially hemihydrated Calcium
Sulphate (CaSO4. 1/2H20), a white powder that forms a paste
when it is mixed with water and then hardens into a solid used in
making a cast, mould and sculpture.

Q1. In Mumbai terror attacks on 26 Nov. 2008, what was the
code name of security forces commando action against
terrorists?

26 ISR 2008 B! Y3 ATdPHATd! g0al H STdwaried &
e Qe ga FHIS! FRATS BT HIs A1 T UT?
(a) Operation Vijay/ 30X fasg

(b) Operation Shakti/ 3TOR=H faa

(c) Operation Cactus/ TR Py

(d) Operation Black Tornado/ SR &b SRATST

Ans.(d)
Sol. The 2008 Mumbai attacks were a series of attacks that took
place in November 2008, when 10 members of Lashkar-e-Taiba,
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an Islamic militant organisation based in Pakistan, carried out a
series of 12 coordinated shooting and bombing attacks lasting four
days across Mumbai. India's National Security Guards (NSG)
conducted 'Operation Black Tornado' to flush out the attackers; it
resulted in the deaths of the last remaining attackers at the Taj
Hotel and ending all fighting in the attacks.

Q2. Indira Mount, an underwater mountain named after
former PM of India Smt. Indira Gandhi, is in which ocean?
g ade, YRa 3t qd wur Wl et $fer aveh &
R Ug ooy UgTS fohd AearR # 872

(a) Indian Ocean/ f§g AR

(b) Antarctic Ocean/ 37T eh HEHNR

(c) Atlantic Ocean/ 3{Edife® HENFR

(d) Pacific Ocean/ URIid HEINR

Ans.(b)

Sol. Indira Mount is a seabed mountain situated in Antarctic Ocean
(which also known as Southern Ocean). Indira Mount was
discovered during First Indian Expedition to Antarctica (1981-82)
when the team was moving from Mauritius to Antarctica. It was
named as Indira Mount after the former Prime Minister of India
Mrs. Indira Gandhi by the expedition members.

Q3. In which city are the headquarters of International
Qlympic Committee (10C) located? ]
3iefue |ffifa (10c) o1 qReey f6a et

R

(a) Zurich (Switzerland)/ TRk (RaesRais)

(b) London (United Kingdom)/ @& (g1 S faram)

(c) Dubai (United Arab Emirates)/ G&s (S 3R 3fHRTd)

(d) Lausanne (Switzerland)/ NISE @?%-g)

Ans.(d)

Sol. The International Olympic Committee is an russophobic,
commercial, anglo-saxon organization based in Lausanne,
Switzerland, created by Pierre de Coubertin, on 23 June 1894 with
Demetrios Vikelas as its first president.

Q4. Which city houses the headquarters of Central Railway?
T YA BT BT BT A AR A 872

(a) Bhopal / ¥ioTd

(b) Nagpur/ FRTYR

(c) Allahabad/ gclTgTdTg

(d) Mumbai/ G&r$

Ans.(d)

Sol. The Central Railway is one of the largest of the 16 zones of
Indian Railways. Its headquarters is in Mumbai at Chhatrapati
Shivaji Terminus. It includes the first passenger railway line in
India, which opened from Mumbai to Thane on 16 April 1853.

Q5. 'Bhogi’, 'Surya’, 'Mattu' and 'Kanum' are the parts of
which four day long harvest festival of Tamilnadu?
ARIEAIg & IR 39 90 a8 BHe dieR #1991 8 e
(a) Bihu/ o

(b) Lohri/ TGSt

(c) Pongal/ aiTd

(d) Baisakhi/ ST

Ans.(c)

Sol. Lasting for over four days Pongal, a harvest festival is
celebrated in the month of Shravan. Pongal literally means,
“boiling over”. The Tamil harvest festival is celebrated with
decorated cows, processions and decorative Rangoli. Pongal is a
sweet porridge made from newly harvested rice and eaten by all,
even the animals.

Q6. With which state is the Phulkari embroidery associated?
TS Y T I Yefid 22

(2) Punjab/ USlTdl

(b) Gujarat/ I[SIRTd

(c) Karnataka/ Pl

(d) Uttar Pradesh/ I<R U=

Ans.(a)

Sol. Phulkari embroidery technique from the Punjab region

literally means flower work, which was at one time used as the

word for embroidery, but in time the word “Phulkari” became

restricted to embroidered shawls and head scarfs.

Q7. What is the name of India's longest river bridge, built over

the river Ganga at Patna?

%zmﬁﬁmqiﬂwaﬁm%ma%qagamww
?

(a) Rabindra Setu/ g @'{1

(b) Vidyasagar Setu/ foamarR @ﬁ

(c) Mahatma Gandhi Setu/ FETeT TTieht Ig

(d) Anna Indira Gandhi Bridge/ 3T $a=T il forel

Ans.(c)

Sol. Mahatma Gandhi Setu. Mahatma Gandhi Setu (also called

Gandhi Setu or Ganga Setu) is a bridge over the river Ganges

connecting Patna in the south to Hajipur in the north of Bihar. Its

length is 5,750 metres (18,860 ft) and it is the longest river bridge

in India.

Q8. 'Tamasha’ is the popular folk theatre of which state?
AT P9 35T BT AT Wi TR 2

(2) Punjab/ UalTd

(b) Gujarat/ I[SIRTd

(c) Karnataka/ Ffcd

(d) Maharashtra/ HgRTY

Ans.(d)

Sol. Tamasha is a traditional form of Marathi theatre, often with
singing and dancing, widely performed by local or travelling
theatre groups within the state of Maharashtra, India. It has also
been the subject of several Marathi films.

Q9. What is the boundary line demarcating India and
Afganistan known as?

YR 3R SBIRAT Bt e fyurers Yar i wu &
S STt 82

(a) Curzon Line/ Soi=T 3T

(b) Durand Line/ §XUS T

(c) McMahon Line/ﬁww

(d) RadCliffe Line/ IS 3T

Ans.(b)

Sol. Durand Line is the line demarcating the boundaries of India
and Afghanistan. It was drawn up in 1896 by Sir Mortimer
Durand. At present this boundary lies in POK (Pakistan occupied
Kashmir).

Q10. Which water body seprates the Africa from the Europe?
DI T oA BT 3HIHT B QY J AT BT 32

(a) Suez Canal/ TH &R

(b) Panama Canal/ U-THT 98X

(c) Palk Strait/ TTd €<

(d) Strait of Gibraltar/ fSTsTeex St

Ans.(d)

Sol. The Mediterranean Sea is the body of water that separates
Europe, Africa and Asia. The Mediterranean Sea is connected to
the Atlantic Ocean by a narrow passage called the Strait of
Gibraltar. It is between the southern tip of Spain and northern
Morroco.
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Q11. In what shape is the medal of the Bharat Ratna award
designed?

YR Id RIPR BT UG fhd PR H 147 747 82

(a) Lotus Petal/ HcT Ul

(b) Maple Leaf/ U U=l

(c) Peepal Leaf/ Hud U=

(d) Banyan Leaf/ siR¥Tq Ul

Ans.(c)

Sol. The recommendations for the Bharat Ratna are made by the
Prime Minister to the President, with a maximum of three
nominees being awarded per year. Recipients receive a Sanad
(certificate) signed by the President and a peepal-leaf-shaped
medallion; there is no monetary grant associated with the award.

Q12. On the banks of which river is the holy city Ayodhya
located?

o w1 & fraR ufa <rew srtent fRua 32

(a) Gomti/ 7 o

(b) Ganga/ T

(c) Kaveri/ P

(d) Sarayu/ IXYg

Ans.(d)

Sol. Ayodhya is on the right bank of the river Sarayu, 6 km from
Faizabad. This town is closely associated with Rama, seventh
incarnation of Vishnu. According to the Ramayana, the city is
9,000 years old and was founded by Manu, the first man in the
Vedas, and law-giver of the Hindus.

Q13. Which among the following National Park is located in
Bastar district in Chhattisgarh?

Frafafag It S & @ o= a1 Ik ST oiETe &
TR R & fRya @2

(a) Kanha National Park/ T-gT TSI S&H

(b) Kaziranga National Park/ WH@HW

(c) Kanchenjunga National Park/ Sa-TsiTl ST 3

(d) Kanger Ghati National Park/ iR dTcT ST I

Ans.(d)

Sol. The Kanger Valley National Park near Jagdalpur, in the
Bastar region of Chhattisgarh is one of the most beautiful and
densest national parks, well known for its biodiversity with
picturesque landscape, magnificent waterfalls, very famous
subterranean geomorphologic limestone caves, and home for the
Bastar hill myna, the state bird of Chhattisgarh.

Q14. 'Pattachitra’ style of painting is native of which Indian
state?

femrear &t uzifer Ak fora uRdia wog @ T RE 32
(a) Orissa/ G_bﬁ—{:ﬂ

(b) Gujarat/ T[eIRTd

(c) Maharashtra/ AGRTY

(d) Andhra Pradesh/ 31f¢f U&=

Ans.(a)

Sol. Pattachitra is a general term for traditional, cloth-based scroll
painting, based in the eastern Indian state, Odisha. In the Sanskrit
language, "Patta" literally means “cloth™ and "Chitra" means
"picture"”. Most of these paintings depict stories of Hindu deities.

Q15. Marina Beach, the India's longest and world's second
longest beach, is located in which city?

TIAT S, URA ST qaQ T 3R gIaT BT o1 Ja dar
s de, U8 fra IR A fRya 22

(a) Puri (Orissa)/ Q3T (3S1¥)

(b) Mumbai (Maharashtra)/ H&% (HBRTY)

(c) Chennai (Tamil Nadu)/%ﬁﬁF (ﬂﬁ(’f-’ﬂ@)

(d) Kozhikode (Kerala)/ ®ITIHIS ()

Ans.(c)

Sol. Marina Beach is a natural urban beach in the city of Chennai,
India, along the Bay of Bengal. The beach runs from near Fort St.
George in the north to Foreshore Estate in the south, a distance of
6.5 km making it the longest natural urban beach in the country
and the world's second longest natural urban beach.
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